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4.1 Understanding, Applying, A
- Creating Based Qu

CASEPROBLEM-1 : : i IFT. Now her fat
Q.1. Zeenat has recently completed her course in Fas.hlon Designing xf; 3?1:;}1:1_ e wranioni le:zt n‘:amshq
to do something creative. He has no consideration for earning R e admi:l-mm ‘
teach fashion designing to those girls who have grea.t 1nte1:~est in }ti HisaimistoFan Siony,
the Fashion Designing Course because of their poor fmfmcml posi 0111:-) e Centrep 50e gulsfmm
poor families. So he gave T 10 lakh to Zeenat to establish a Fashion Des %‘T; g T g‘¥13§0u1.1
take admission in this centre. Zeenat announced nomjna! fees to be chuge ;)rr admission, Wlthln
week of the opening of the centre, all the seats were filled. After gettutll% ;mmgt,m this Centre, ;
became easy for the girls to get jobs in the market. Wlthn} a few months, dee.l'll‘a S centre be
popular. She spent ¥ 5 lakh out of the total 10 lakh on infrastructure and ot er things, anq the
remaining ¥ 5 lakh she deposited in the Savings Account of a bank. One of her friends wag a ban
employee. She advised Zeenat that instead of keeping X 5 lakh in the Savings Account, S.he shoulg
keep them in a Fixed Deposit Account. But Zeenat replied that she Woulq need money any time andg
she could not keep her money in a Fixed Deposit Account. Then her friend told her that she shoy
deposit her money in such a bank account which would serve the purpose of both, the Savings Accoyy
and the Fixed Deposit Account. From this account she could withdraw money as and when needed and
a definite amount would continue to getautomatically transferred to the Fixed Deposit. Zeenat opened

the account with her bank.
Identify and explain the type of Bank Account which Zeenat's friend advised her to open in the bank.
3marks

Ans. Multiple Option Deposit Account
Itis a combination of savings account and fixed deposit account which provide specific options to the
depositors. It is a type of Saving Deposits Account in which amount of deposit in excess of a particular
d Deposit Account. And, in case sufficient funds are o

limit gets automatically transferred to Fixe
our a cheque issued, i
s Account. The account holder has two

available in Saving Deposits Account to hon
posit Account to the Saving Deposit .
and it lowers the risk of dishonouring2

transferred from Fixed De
benefits from this account— he/she can earn more interest

cheque.
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CASEPROBLEM-2 :
Mr. Rajesh is employed in a branch of Punjab National Bank in Delhi. His friend, Mr. Vijay goes to the

Q2 ften. One day, Vij ;

pank very often. ne day, Vijay goes to the bank to get a Bank Draft issued. There he noticed
customer of t}le bank_told quesh that he wanted to transfer ¥ 40,000 to Chandigarh imx:\zdit:\teﬁ;
la-ined to him that it was not possible to transfer the money immediately; it would be done

Rajesh expia
after some tume. When some such cases of transfer would come, all of them would be transferred in a
ustom. ¢s came and asked Rajesh if he could

patch. On another day, Vijay noticed that one of the bank ¢

ot Z 3 lakh transferred to Mumbai immediately. Rajesh replied in affirmative. Vijay asked Rajesh
why he refused to transfer ¥ 40,000 to Chandigarh immediately that day, and how X 3 lakh got
and he was satisfied.

transferred to Mumbai immediately now. Rajesh explained this to Vijay,

What explanation must have been given by Rajesh to Vijay? 3 marks
Ans. Real Time Gross Settlement (RTGS) and National Electronic Funds Transfer (NEFT) are the fastest
ossible money transfer system through banks using the internet facility provided by banks. In RTGS
n, the transactions are settled immediately as soon as they are processed on one to one basis without

syster
punching or netting with any other transaction, i.e., no waiting period. However, the minimum
transaction value for RTGSis 2 lakh.

On the other hand, in NEFT takes place in batches at regular time intervals, notimmediately.

CASE PROBLEM-3
Q.3. The owner of ‘Govinda Fertilisers’, Rehan opened a
The customer can often withdraw money from the curr
it. One day he needed money more than the balance in the account.
arrange the money. He needed this amount for about a day or so. One o
customers having a current account in the bank can get the permission to

the balance in the account after making an agreement with the bank.

Identify the facility provided by the bank referred to in the above case.
Ans. BankOverdraft

current account in “The Punjab National Bank'.
ent account only up to the amount deposited in
He was worried about how to
f his friends told him that the
withdraw money more than

1 mark
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he suffered a 1885‘(/)\55 Zhlﬂk:‘hand i

: : 30,000. Who has :
gets the compensation for the same. The half-burnt goods can be sold for < 30,0 ;?}gﬁt’:
(_)verit? hye : .+ the amount realised by selling the h_“” bu.rnt. ;_’,()O(Iis after jy as

s m'e in-sumnftiC()'[np‘?ly1:\rlll:‘j‘slf»l:: ;.(I»Hl,;:Lf)i\lv:slulr:'(dl. Sukarn cannot make any profit by selling the ha”burm
g(:(l)( Li‘i : .0(111’]1!; l:z::]ltnl L::; S'l(l Llﬂ‘o gation)

CASE PROBLEM-2 o fire
A P e T > to fire
Q.2. Sukarn has taken fire insurance policy for his factory. Due

CASE PROBLEM-3 i et lectricit
Q.3. A factory owner gets his stock of goods insured, but ,he h.lc'les tl;le faceldthlf’:tzl:iri ifle lfci:cilol:}(’)z;ctl !
issued him a statutory warning letter to get his factory’s wiring changec. 3 m§h§s
ks

Dy X on?
fire due to short circuit of wiring. Can he claim compensation: B e
tion from the insurance company since he has hiddep, th

as violated the principle of “utmost good faitly

Ans. No, the factory owner cannot claim compensa
full, accurate disclosure of a] facts

fact of statutory warning from the electricity board. He h

According to this principle, the insured must voluntarily make 1 o al facts
; 0
material to the risk being proposed. The insurer must also make clear all the terms and conditions jn the

Insurance contract.

CASE PROBLEM-4
Q.4. Shubham has taken a loan from Saurabh against the security of his factory. Can Saurabh take 3 fire

insurance policy of that factory? ‘ . 1 mark
Ans. Yes, Saurabh (the lender) can take a fire insurance policy of the factory though he is not its owner, becaysg

he has financial interestin the factory premises. (Principle of insurable interest)

CASE PROBLEM-5
Q.5. Rishabh insured his factory forZ 5 lakh against fire. Due to fire, he suffered a loss of Z 2 lakh. How much

amount he canrecover from the insurance company? Why? 1 mark
Ans. Rishabh can recover? 2 lakh from the insurance company (not the policy amount, thatis, ¥ 5 lakh) since he
has suffered a loss of ¥ 2 lakh only. The purpose of insurance s to compensate for loss and not to earn profit.

(Principle of indemnity)

CASEPROBLEM-6
Q.6. Ashish took a marine policy to cover the goods exported by him. Under the policy goods have been

insured against damage likely to be caused by sea-water. During the voyage a hole was caused in the
bottom of the ship. Through this hole sea water entered into the ship which damaged the goods insured.
Can Ashish claim compensation for the loss? 3 marks
Ans. Yes, Ashish can claim compensation for the loss from the insurance company.
Reason: In this case there are two causes of the mishap, which has occurred. First, the hole caused in the
bottom of the ship and second, seepage of sea water into the ship. The nearest cause of the damage causedto |
the goods is the seepage of the water, the hole in the bottom of the ship is the remote cause. Therefore: .
Ashish must be compensated for the loss caused by the damage to the goods covered by the policy. |

CASE PROBLEM-7

Q.7. Sohan took the life insurance policy of his wife. After one year, the couple got divorced and Z}f’fﬂ' two
years, his wife met with an accident and died on the spot. Is Sohan entitled to get compensation ff"l:‘;
the insurance company, if Sohan was regularly paying the premium amount? 3.mareﬁt :

Ans. Yes, Sohan is entitled to the compensation because in case of life insurance policy, the insurable -mte‘r;en
must be present at the time of contract. So, Sohan will get the compensation for the death of his wife ¢

after divorce.
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CASE PROBLEM-8
fire insurance policy of 320 lakh for his factory at the annual premium of 324, 000. In
d not disclose that highly explosive chemicals are

Q8. Madhav took a
order to avoid premium more than this amount, he di
being manufactured in his factory. Due to a fire, his factory gets severely damaged. The insurance
laim as it became aware about the highly explosive

company refused to make the payment tor ¢
chemicals.Is Madhav ontitled to receive the claim? Give reason in support of your answer. 1 mark
Ans. No, Madhav isnot entitled to receive the claimas he has violated the principle of ‘Utmost Good Faith'.

for all its vehicles. A truck of that company
damage to oranges but oranges

g and reloading
surance

cident insurance policy

dent. Due to that accident there was no
Due to time wasted in unloadin

1 for loss of oranges from the in

CASE PROBLEM-3
any took an ac

Q.9. A transport comp
t with an acci

carrying oranges me
were unloaded from that truck and reloaded to another.
the oranges got spoiled. Will the company get compensatio

company or not? Which principleis related with this case? 1 mark
Ans. The company will not get compensation because oranges werenot spoiled in accident, but got spoiled due

to delay in unloading and loading. This caseis related to the principle of ‘Proximate Cause’.

CASE PROBLEM-10 ‘ :
car and after three months he sold itto Mr. Sunil. The car

Q.10. Mr. Sugan took an Insurance Policy against his
was stolen fr.om outside of Mr. Sunil’s house. Mr. Sugan made a claim to the insurance company. His
claim was rejected on the ground that Mr. Sugan was no longer owner of the car, so he has no insurable

interest and he has no financial loss with the loss of the car.
(a) WasMr. Suganrightin making claim? Give reason in support of your answer.
3 marks

- (b) Who can claim compensation?
s. (a) I;IIO, Mr. Sugan.cal.mot claim compensation from the insurance company because he has already sold
the car. The principle of Insurable Interest states that the insured must have insurable interest at the

time of the loss.
(b) Mr. Sunil can claim compensation from the insurance company since he has insurable interest in the

car at the time of the loss.
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